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SAMPLE QUESTION 
MATHEMATICS

Class: IX
Time : 3 1/4 hrs                                                                                              Marks :80
General Instructions
1. All questions are compulsory

2. The question paper consists of 25 questions divided in to three sections A, B and C .Section A   contains 7 questions of 2 marks each .Section B is of 12 Questions of 3 marks each and section  C of 6 Questions of 5 marks each

3. There is no overall choice .However ,internal choice has been provided in two questions of two   marks each, two questions of three marks each, two questions of five marks each 
4. In question on construction ,drawing should be neat exactly as per the given measurements.

5. Use of calculators is not permitted.
SECTION A

1. Evaluate without direct multiplying

          106 X   99

2. rationalize the denominator
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3. Plot the point on the coordinate plane if the abscissa of the point is -4 and the ordinate is 8.

4. Find the area of a triangle, two sides of which are 8cm, 11 cm and the perimeter is 32 cm.
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5. Represent  
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 on number line.

6. Two coins are tossed simunatneously. What is probability of getting heads on both coins?
7. ABCD is a cyclic quadrilateral in which AC and BD are diagonals. If  
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SECTION - B

8. Construct a triangle ABC, in which  
[image: image8.wmf]Ð

A

=

3

0

°

,

Ð

B

=

9

0

  and AB+BC+AC=13 cm.           

9. The angles of quadrilateral are in the ratio off 3: 5: 9: 13. Find all the angles of the quadrilateral.

10.  a field is in the shape of trapezium whose parallel sides are 25 m and 10 m . the non parallel sides are 14 m and 13 m . Find the area of field.
11. The mean of the numbers 1, 7, 5, 3, 4, 4 is m. The numbers 3, 2, 4, 2, 3, 3, p. have mean  -1 and median q.  Find 
                (i) p 
                (ii) q 
                (iii) the mean of p and q.
12. Solve the equation 4x-2=x+4 , and represent the solution on the Cartesian plane.
13. If a point C lies between two points A and B such that AC=BC, then prove that  
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 . Explain by drawing the figure.
14. AD and BC are equal [perpendiculars to a line segment AB. Show that CD bisects AB.
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15. A solid cube of side 12 cm is cut into 8 cubes of equal volume. What will be the side of the new cube? Find the ratio of their surface areas.
16. You are given the circle. How can you find its centre?

17. factorize 
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18. Find the volume of the sphere whose surface area is 154 sq. cm.
SECTION - C

19. if x+y=z+w, then prove that AOB is a line
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20.  Show the sum of any two sides of triangle is greater then the third side. Using this do the following

       D is a point on side BC of triangle ABC such that AD=AC. Show that 
       AB>AD.
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21. Weights of 50 eggs were recorded as given below:

	Weight in gms
	80-84
	85-89
	90-94
	95-99
	100-104
	105-109
	110-114

	No. of eggs
	5
	10
	12
	8
	 p
	2
	1


   Find the value of p and draw histogram.

22. The volume of a cone is the same as that of the cylinder whose height is 9 cm and diameter 40 cm. Find the radius of the base of the cone if its height is 108 cm
23. Prove that the sum of angles of triangle is always 180.
OR 

Show that the diagonals of rhombus are perpendicular to each other.

24. Prove that the quadrilateral formed by the internal bisectors of any quadrilateral is cyclic.

25. 2000 families with 3 children were selected at random and the following data is recorded

	Girl child in family
	0
	1
	2
	3

	No. of families
	475
	814
	111
	600


Find.
a) probability of family having 0 girl

b) probability of family having 1 girl

c) probability of family having 2 girl

d) probability of family having more than 1 girl

e) probability of family at least 1 girl
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